0	0	٢	۲
$\frac{9}{5} - \frac{6}{4} =$	$\frac{9}{7} - \frac{7}{6} =$	$\frac{8}{1} - \frac{6}{8} =$	$\frac{4}{10} - \frac{3}{10} =$
6	6	Ø	®
$\frac{10}{6} - \frac{6}{9} =$	$\frac{4}{2} - \frac{6}{8} =$	$\frac{7}{7} - \frac{10}{10} =$	$\frac{9}{4} - \frac{9}{8} =$
۰	10	1	(2)
$\frac{10}{1} - \frac{6}{10} =$	$\frac{10}{5} - \frac{7}{5} =$	$\frac{3}{3} - \frac{1}{9} =$	$\frac{2}{5} - \frac{2}{7} =$
13	(14)	(15)	(fi)
$\frac{8}{4} - \frac{5}{6} =$	$\frac{9}{2} - \frac{9}{7} =$	$\frac{10}{3} - \frac{10}{9} =$	$\frac{8}{6} - \frac{6}{9} =$
Answers and Worksheets			https://archeranthem.com